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( ¢ ) 66 Name the four fundamentals involved in maneuvering an aircraft.
(A)Power, pitch, bank, and trim. (B)Thrust, 1lift, turns, and glides.
(C)Straight-and level flight, turns, climbs, and descents.

B he8855:0015411 2220 % R %
( B ) 67 The angle of attack at which an airfoil stalls will
(A)increase if the CG is moved forward. (B)remain the same regardless of gross
weight. (C)change with an increase in gross weight.

Fbek855:0015412 420 ¥ R %
(A ) 68 The direct cause of every stall i1s excessive
(A)angle of attack. (B)density altitude. (C)upward vertical velocity.

4o 48%.:0015413 %520 ¥p% B %

(A ) 69 "The most critical conditions of takeoff performance are the result of some
combination of high gross weight, altitude, temperature, and"
(AM)unfavorable wind. (B)obstacles surrounding the runway. (C)powerplant
systems.

B4e4250:0015414 Age:0 2% & 5



(B ) 70 What is absolute altitude?
(A)The altitude read directly from the altimeter. (B)The Vertival distance of
the aircraft above the surface. (C)The height above the standard datum plane.

o 4e4855:0015415 420 ¥ % R %
(B ) 7l What is density altitude?
(A)The height above the standard datum plane. (B)The pressure altitude corrested
for nonstandard temperature. (C)The altitude read directly from the altimeter.

B 4e-88%0:0015416 A0 $p% & 5
(A ) 72 "Density altitude, and its effect on landing performance, is defined by"

(A)pressure altitude and ambient temperature. (B)headwind and landing weight.
(C)humidity and braking friction forces.

F4eB8%50:0015417 f &0 5 B ¥
(B ) 7 "What effcet does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?"
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

B b 8285:0015418 2220 ¥ % R 4

(B ) 7 What effect, if any, does high humidity have on aircraft performance?
(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

4o 82%.:0015419 A5 2.0 2% B %
( A ) 7 What are the standard temperature and pressure values for sea level?

(A)"15C and 29.92"" Hg." (B)59°C and 1013.2 millibars. (C)59°F and 29.92
millibars.

f4e88%50:0015420 520 2% B %
(B ) 76 What effect does high density altitude have on aircraft pereformance?

(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

4o 4855:0015421 fpke .0 ¥k R ¥
( ¢ ) 7 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)"Low temperature, low relative humidity, and low density altitude." (B)"High
temperature, low relative humidity, and low density altitude." (C)"High
temperature, High relative humidity, and High density altitude."

B4 A8 50:0010422 e 0 ¥ 20 5



(B ) 78 What effect does an uphill runway slope have on takeoff performance?
(A)Increases takeoff speed. (B)Increases takeoff distance. (C)Decreases takeoff
distance.

4o B8%.:0015423 k5w :0 % B %
(B ) 7™ Which factor would tend to increase the density altitude at a given airport?
(A)An increase in barometric pressure. (B)An increase in ambient temperature.
(C)A decrease in relative humidity.

B4 4855:0015424 420 ¥4 R %
(A ) 80 "To avoid missing important steps, always use the"
(A)appropriate checklists. (B)placarded airspeeds. (C)airworthiness
certificate.

4o 88%.:0015425 250 ¥k B %
(A ) 81 What is the relationship of 1ift, drag, thrust, and weight when the airplane
1s in straight-and-level flight?
(A)Lift equals weight and thrust equals drag. (B)Lift, drag, and weight equals
thrust. (C)Lift and weight equals thrust and drag.

Fdek855:0015426 420 ¥ 5 B %
(A ) 8 Climb performance depends upon the
(AMreserve power or thrust. (B)maximum L\D ratio. (C)cruise power setting.

F 4o %855:0015427 4 e .0 ¥k B¢
(B ) 8 What must a pilot be aware of as a result of ground effect?
(A)Wingtip vortices increase creating wake turbulence problems for arriving and
departing aircraft. (B)"Induced drag decreases; therfore, any excess speed at
the point of flare may cause considerable floating." (C)A full stall landing
will require less up elevator deflection than would a full stall when done free
of ground effect.

B4 %855:0015428 4220 ¥4 R %
(B ) 8 An airplane said to be inherently stable will
(AM)be difficult to stall. (B)require less effort to control. (C)not spin.

b %855:0015429 4 e ] ¥k B¢
(B ) 8. (Refer to Figure 1.) What is the maximum altitude for the balloon if the gross
weight is 1,100 pounds and standard temperature exists at all altitudes?(4r
BIA61_Figl)
(A)1,000 feet. (B)4,000 feet. (C)5,500 feet.

P W
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o 4e%855:0015430 fp ke .2 ¥ b R ¥
(¢ ) 86 (Refer to Figure 1.) What is the maximum altitude for the balloon if the gross
weight is 1,000 pounds and standard temperature exists at all altitudes?(4r
BIA61_Figl)
(A)4,000 feet. (B)5,500 feet. (C)I1,000 feet.

AP B

Fdek855:0015431 4220 ¥ B %
(C ) 87 The part of a balloon that bears the entire load is the
(AM)envelope material. (B)envelope seams. (C)load tapes (or cords).

4o 88%.:0015432 A w0 2% B %
(¢ ) 8 Inhotair balloons, propane is preferred to butane or other hydrocarbons because
it
(A)is less volatile. (B)is slower to vaporize. (C)has a lower boiling point.

fhe38550:0010433 2E w0 ¥ 5 B 4
(B ) 89 The initial temperature at which propane boils is
(A)+32 °F. (B)-44 °F. (C)-60 °F.

f4e88%.:0015434 250 ¥k B %

(A ) 9 On cold days, it may be necessary to preheat the propane tanks because
(A)the temperature of the liquid propane controls the burner pressure during
combustion. (B)there may be ice in the lines to the burner. (C)the propane needs
to be thawed from a soilid to a liquid state.

B 442 50:0015435 A0 sk & 5

( A ) 91 When ample liquid propane is available, propane will vaporize sufficiently to
provide proper operation between the temperatures of
(A)+30 to +90 °F. (B)-44 to +25 °F. (C)-51 to +20 °F.

438 50:0010436 25w 0 ¥ 5 B 4
(C ) 92 If ample propane is available, within which temperature range will propane
vaporize sufficiently to provide enough pressure for burner operation during

flight?
(A)0 to 30 °F. (B)10 to 30 °F. (C)30 to 90 °F.

R 4eB850:0015437 A0 ¥k B %
( A ) 93 The valve located on the top of the propane tank which opens automatically when
the pressure in the tank exceeds maximum allowable pressure is the
(A)pressure relief valve. (B)metering valve. (C)blast valve.

11



B4 A8 50:0015438 A0 ¥k 20 5
(B ) 94 The valve located on each tank that indicates when the tank is filled to 80 percent
capacity 1s the
(Mmain tank valve. (B)vapor-bleed valve. (C)pilot valve.

o 4e%855:0015439 4.0 ¥ % R %
(A ) 9 The lifting forces which act on a hot air balloon are primarily the result of
the interior air temperature being
(A)greater than ambient temperature. (B)less than ambient temperature. (C)equal
to ambient temperature.

442 50:0015440 g0 % 20 5
( A ) 96 Burner efficiency of a hot air balloon decreases approximately what percent for
each 1,000 feet above MSL?
(A)4 percent. (B)8 percent. (C)15 percent.

B he4855:0015441 420 ¥4 R %
(C ) 97 While in flight, ice begins forming on the outside of the fuel tank in use. this
would most likely be caused by
(AM)water in the fuel. (B)a leak in the fuel line. (C)vaporized fuel instead of
liquid fuel being drawn from the tank into the main burner.

4o 88%0:0015442 35w .0 ¥k B %
(¢ ) 98 For what reason is methanol added to the propane fuel of hot air balloons?
(A)To check for fuel leaks. (B)As a fire retardant. (C)As an anti-icing additive.

B b B8%55:0015443 2220 5 2 %
(B ) 9 "On a balloon equipped with a blast valve, the blast valve is used for"
(A)climbs and descents only. (B)altitude control. (C)emergencies only.

4o %8%55:0015444 f2 w0 ¥ % R %
( ¢ )100 Wingtip vortices are created only when an aircraft is
(A)operating at high airspeeds. (B)heavily loaded. (C)developing lift.
o 4e4855:0015445 fg .0 ¥ % R %

( ¢ )10l The greatset vortex strength occurs when the generating aircraft is
(A)light, dirty, and fast. (B)heavy, dirty, and fast. (C)heavy, clean, and slow.

B4 %855:0015446 4220 ¥4 R %
( A )102 Wingtip vortices created by large aircraft tend to
(A)sink below the aircraft generating turbulence. (B)rise into the traffice
pattern. (C)rise into the takeoff or landing path of a crossing runway.

B4eA250:0015447 g0 2k A0 5
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( A )103 The wind condition that requires maximum caution when avoiding wake turbulence
on landing is a
(A)light, quartering, headwind. (B)light, quartering tailwind. (C)strong
headwind.

R4e88%.:0015448 250 ¥k B %

( A )104 When landing behind a large aircraft, the pilot should avoid wake turbulence
by staying
(A)above the large aircraft’s final approach path and landing beyond the large
aircraft’ s touchdown point. (B)below the large aircraft’s final approach path
and landing before the large aircraft’ s touchdown point. (C)above the large
aircraft’ s final approach path and landing before the large aircraft’ s touchdown
point.

4o %855:0015449 f 2.0 ¥ % R %
( B )105 "When departing behind a heavy aircraft, the pilot should avoid wake turbulence
by maneuvering the aircraft"
(A)below and downwind from the heavy aircraft. (B)above and upwind from the heavy
aircraft. (C)below and upwind from the heavy aircraft.

4o 88%.:0015450 A0 2% B %
( ¢ )106 Which combination of atmospheric condotions will reduce aircraft takeoff and
climb performance?
(A)Low temperature, low relative humidity, and low density altitude. (B)High
temperature, low relative humidity, and low density altitude. (C)High
temperature, High relative humidity, and High density altitude.

R4e485.:0015451 4.0 $pd R %
( B )107 What effect does high density altitude have on aircraft pereformance?

(A)It increases engine performance. (B)It reduces climb performance. (C)It
increase takeoff performance.

4o 4855:0015452 fpie ] ¥k R ¢
( ¢ )108 (Refer to Figure 2.) What is the effect of a temperature increase from 25 to
50°F on the density altitude if the pressure altitude remains at b, 000 feet?" (4r
BIAGl_Fig2)
(AM)"1, 200-foot increase." (B)"1,400-foot increase." (C)"1, 6560-foot increase."
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o 4e4855:0015453 fp ke 2 ¥k R ¢
( A )109 (Refer to Figure 2.) Determine the pressure altitude with an indicated altitude
of 1,380 feet MSL with an altimeter setting of 28. 22 at standard temperature. (-
BIA61_Fig2)
(A)2,991 feet MSL. (B)2,913 feet MSL. (C)3,013 feet MSL.
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( ¢ )110 (Refer to Figure 2.) What is the effect of a temperature increase from 30 to
50°F on the density altitude if the pressure altitude remains at 3,000 feet
MSL?(4-®IA61_Fig2)
(A)900-foot increase. (B)1,100-foot increase. (C)1, 300-foot increase.
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B 4-3850:0015455 44 gk R P
( A H111 (Refer to Figure 2.) Determine the pressure altitude with an airport that is
1,386 feet MSL with an altimeter setting of 29.97. (4-BA61_Fig2)
(A)1, 341 feet MSL. (B)1,451 feet MSL. (C)1,562 feet MSL.
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( B )112 "What effect, if any, does high humidity have on aircraft performance?"
(A)It increases performance. (B)It decreases performance. (C)It has no effect
on performance.

4o 88%50:0015457 A0 ¥k B %
( B ) 113 What effect does high density altitude, as compared to low density altitude,
have on propeller efficiency and why?
(A)Efficiency is increased due to less friction on the propeller blades.
(B)Efficiency is reduced because the propeller exerts less force at high density
altitudes than at low density altitudes. (C)Efficiency is reduced due to the
increased force of the propeller in the thinner air.

o 4e%855:0015458 4.0 ¥4 R %
( ¢ )114 What is one procedure for relighting the burner while in flight?
(A)Open the regulator or blast valve full open and light the pilot light.
(B)"Close the tank valves, vent the fuel lines, reopen the tank valves, and light

the pilot light." (C)"Open another tank valve, open the regulator or blast valve,
and light the main jets with reduced flow."

B 4o AT 0015459 A0 ¥ h B : 2

( ¢ )115 The windspeed is such that it is necessary to deflare the envelope as rapidly
as possible during a landing. When should the deflare port (rip panel) be opened?
(A)The instant the gondola contacts the surface. (B)As the balloon skips off
the surface the first time and the last of the ballast has been discharged.
(C)Just prior to ground contact.

F 4 %855:0015460 4820 ¥ % R %
( B ) 116 "When landing a free balloon, what should the occupants do to minimize landing
shock?"
(A)Be seated on the floor of the basket. (B)"Stand with knees slightly bent,
in the center of the gondola, facing the direction of movement." (C)Stand
back-to-back and hold onto the load ring.

R4e48%.:0015461 32 e .0 2% B %
( ¢ )117 Prior to a hgih-wind landing, the pilot in command should brief the passengers
to prepare for the landing by
(A)kneeing on the floor and facing aft. (B)crouching on the floor and jumping
out of the basket upon contact with the ground. (C)crouching while hanging on
in two places, and remaining in the basket until advised otherwise.

4o 88%50:0015462 A w0 ¥k B %
( B ) 118 Which precaution should be exercised if confronted with the necessity of having
to land a balloon when the air is turbulent?
(A)Land in any available lake close to the upwind shore. (B)Land in the center

of the largest available field. (C)"Land in the trees to absorb shock forces,
thus cushioning the landing."
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4o 48%.:0015463 22 e .0 ¥k B %
( ¢ )119 What action i1s most appropriate when an envelope over-temperature condition
occurs?
(A)Throw all unnecessary equipment overboard. (B)Descend; hover in ground effect
until the envelope cools. (C)Land as soon as practical.

4o 48%.:0015464 25w :0 ¥k B %
(C )120 "In addition to the required documents, what carry-on equipment should be
accounted for during preflight?"
(A)Flotation gear. (B)Emergency locator transmitter. (C)Two means of burner
ignition.
482 %0:0015460 A w0 ¥k B %
( A 121 How should a balloon fuel system be checked for leak prior to flight?

(A)Listen and smell. (B)Check all connections with a lighted match. (C)Cover
all connections and tubing with soapy water.

Fo4o88%.:0015466 %2 w0 ¥ % B %
(B )122 "On a balloon equipped with a blast valve, the blast valve is used for"
(A)climbs and descents only. (B)altitude control. (C)emergencies only.

o 4e82%0:0015467 A w0 ¥k B %
( B )123 What causes false 1ift which sometimes occurs during launch procedures?
(A)Closing the maneuvering vent too rapidly. (B)Excessive temperature within
the envelope. (C)Venturi effect of the wind on the envelope.

4e88%.:0015468 22w .0 ¥k B %
( B )124 What is a potential hazard when climbing at maximum rate?
(A)The envelope may collapse. (B)Deflation ports may be forced open. (C)The rapid
flow of air may extinguish the burner and pilot light.

4o 4850:0015469 25w 0 ¥ % B 4
( B )125 It may be possible to make changes in the direction of flight in a hot air balloon
by
(A)flying a constant atmospheric pressure gradient. (B)operating at different
flight altitudes. (C)operating above the friction level, if there is no gradient
wind.

R4 48%.:0015470 %520 2% B %
( A )126 What action should be taken if balloon encounters unforecast weather and shifts
direction abruptly while in the vicinity of a thunderstorm?
(A)Land immediately. (B)Descend to and maintain the lowest altitude possible.
(C)Ascend to an altitude which will ensure adequate obstacle clearance in all
directions.

B4eA250:0015471 g0 2% & 5
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( A )127 All fuel tanks should be fired during preflight to determine
(A)the burner pressure and condition of the valves. (B)that the pilot light
functions properly on each tank. (C)if there are any leaks in the tank.

4o B8%0:0015472 kw0 % B %
(B )128 In a balloon, best fuel economy in level flight can be accomplished by
(A)riding the haze line in a temperature inversion. (B)short blasts of heat at
high frequency. (C)long blasts of heat at low frequency.

F4oB8%50:0015473 fpe ] ¥ RV
( ¢ )129 (Refer to figure 3.) The gross weight of the balloon is 1, 350 pounds and the
outside air temperature (OAT) is +51°F. The maximum height would be(%rH]
A61_Fig3)
(A)5,000 feet. (B)8, 000 feet. (C)10,000 feet.
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( ¢ )130 (Refer to figure 3.) The gross weight of the balloon is 1,200 pounds and the
maximum height the pilot needs to attain is 5, 000 feet. The maximum temperature
to achieve this performance is(4-®BA61 Fig3d)
(A)+37 °F. (B)+70 °F. (C)+97 °F.
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